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REISHERA-—BENTER.

1. What is the author’s main point?

2. Which of the following sentences best expresses the main
idea?

3. The main idea (central thought) of the passage is



The topic sentence of this passage is
The primary objective of the passage is
The title of the passage would be

The best summary of the passage is that

00 3 O U

What the passage tells us would be summarized by the
sentence

. Which of the following is the best title for the passage?

©o

10. The title that best expresses the main idea of the passage is

11. The passage states (illustrates, discusses, deals with, is
concerned about, describes ... )

12. What topic is treated in this passage?

13. The (main) purpose of the passage is

14. The subject of the passage is

15. What is the author’s main purpose in this passage?

16. Which of the following best states the theme of the passage?

17. Which of the following can best sum up the passage?

WETHGY .

i Exercise 1 &

Greenspace facilities are contributing to an important extent
to the quality of the urban environment. Fortunately it is no
longer necessary that evéry lecture or every book about this
subject has to start with the proof of this idea. At present it is
generally accepted, although more as a self-evident statement
that on the base of a closely-reasoned scientific proof. The
recognition of the importance of greenspaces in the urban
environment is a first step on the right way, this does not mean,
however, that sufficient details are known about the functions of
greenspace in towns and about the way in which the inhabitants

¢ 2.



are using these spaces. As to this rather complex subject I shall,
within the scope of this lecture, enter into one aspect only,
namely the recreative function of greenspace facilities.

The theoretical separation of living, working, traffic and
recreation which for many years has been used in town-and-
country planning, has in my opinion resulted in disproportionate
attention for forms of recreation far from home, whereas there
was relative little attention for improvement of recreative
possibilities in the direct neighbourhood of the home. We have
come to the conclusion that this is not right, because an
important part of the time which we do not pass in sleeping or
working, is used for activities at and around home. So it is
obvious that recreation in the open air has to begin at the street-
door of the house. The urban environment has to offer as many
recreation activities as possible, and the design of these has to be
such that more obligatory activities can also have a recreative
aspect.

The very best standard of living is nothing if it is not
possible to take a pleasant walk in the district, if the children
cannot be allowed to play in the streets, because the risks of
traffic are too great, if during shopping you can nowhere find a
spot for enjoying for a moment the nice weather, in short, if you
only feel yourself at home after the streetdoor of your house is

closed after you.

1. According to the author, the importance of greenspaces in the
urban environment
A. is still unknown
B. is usually neglected
C. is being closely studied



3.

D. has been closely recognized
The theoretical separation of living, traffic and recreation has
led 10
A. the disproportion of recreation facilities in the neighbour-
hood
B. the location of recreation facilities far from home
C. relatively little attention for recreative possibilities
D. the improvement of recreative possibilities in the
neighbourhood
The author suggests that the recreative possibilities of
greenspace should be provided
A. in special areas
B. in the suburbs
C. in the neighbourhood of the house
D. in gardens and parks
According to the author, greenspace facilities should be
designed in such a way that
A. more obligatory activities might take on a recreative
aspect
B. more and more people might have access to them
C. anincreasing number of recreative activities might be
developed
D. recreative activities might be brought into our homes

5. The main idea of this passage is that

A. better use of greenspace facilities should be made so as to
improve the quality of our life

B. attention must be directed to the improvement of
recreative possibilities

C. the urban environment is providing more recreation

040



activities than it did many years ago
D. priority must be given to the development of obligatory

activities
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BRXEENFSEBREIEE AXPTLURENR FEFRK
38 7 greenspace facilities ST TR RN EEN., BEERTA
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Exercise 2

Automation refers to the introduction of electronic control
and automatic operation of productive machinery. It reduces the
human factors, mental and physical, in production, and is
designed to make possible the manufacture of more goods with
fewer workers. The development of automation in American
industry has been called the “Second Industrial Revolution”.

Labour’s concern over automation arises from uncertainty
about the effects on employment, and fears of major changes in
jobs. In the main, labour has taken the view that resistance to
technical change is unfruitful. Eventually, the result of
automation may well be an increase in employment, since it is
expected that wvast industries will grow up around

e 5



manufacturing, maintaining, and repairing automation
equipment. The interest of labour lies in bringing about the
transition with a minimum of inconvenience and distress to the
workers involved. Also, union spokesmen emphasize that the
benefit of the increased production and lower costs made possible
by automation should be shared by workers in the form of higher
wages, more leisure, and improved living standards.

To protect the interests of their members in the era of
automation, unions have adopted a number of new policies. One
of these is the promotion of supplementary unemployment
benefit plans. It is emphasized that since the employer involved
in such a plan has a direct financial interest in preventing
unemployment, he will have a strong drive for planning new
installations so as to cause the least possible problems in jobs and
job assignments. Some unions are working for dismissal pay
agreements, requiring that permanently dismissed workers be
paid a sum of money based on length of service. Another
approach is the idea of the improvement factor, which calls for
wage increases based on increases in productivity. It is possible,
however, that labour will rely mainly on reduction in working

hours in order to gain full share in the fruits of automation.

1. Though labour worries about the effects of automation, it
never doubts that
A. automation will eventually prevent unemployment
B. automation will help workers acquire new skills
C. automation will eventually benefit the workers no less
than the employers
D. automation is a trend which cannot be stopped
« G
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A.
B.

C.

D.

he idea of “improvement factor” implies roughly

wages should be paid on the basis of length of service

the benefit of the increased production and lower costs
should be shared by workers

supplementary unemployment benefit plans should be
promoted

the transition to automation should be brought about with

the minimum of inconvenience and distress to workers

3. In order to get the full benefits of automation, labour will

depend mostly on

A. additional payment to the permanently dismissed workers

B.

C.

the increase of wages in proportion to the increase in
productivity

shorter working hours and more leisure time

D. strong drive for planning new installations

4. Which of the following can best sum up the passage?

A

. Advantages and disadvantages of automation.

B. Labour and the effects of automation.

C. Unemployment benefit plans and automation.

D

. Social benefits of automation.
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Some antismokers want to ban the sale of cigarettes
completely.
A. forbid B. reduce C. discourage D. allow

FX .~ BRXNMBAHARSELE L FTRHEE.D

B antismokers B R R EE LR SHMMMH A7, &AL
MEEHEEERI X SE, #TT#E L ban 5% forbid (B8 11)
MED XE‘RXMHHMNUR R HEEFER AEAEL B
M 3R A1 W] HEBR reduce (B ) , discourage (R Ky ) # allow (£ 35)
E=AEERBHENMNYECAFEAFIEFL Ak
forbid,

D FABRRREGARERERERINALERR. 1,

George is a thief; he would _ the gold from his
grandfather’s teeth and not feel guilty.
A. steal B. take C. rob D. get
(BICFERM BEMHLBT LR EFHEMG,THEL
EELER.)

DFE-RETEHAFORBANETRER., XEHEBEK
AFRMAEHATHRE, WOMR, FOLKE, MAKRAE
thief WARE steal , HEZAALRBER. BULEEREY A,
DMBELTOLKBBE LB LG, B ® ST 4T H &, R A
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The girl understood the death for the first time when she saw

her dog converted into an inanimate object after being struck

by a car. ‘
A. angry B. wounded C. lifeless D. ugly
GRE-HXLBEBBEHRMERLECH M EEIN, A%

— KR TR HEE.)

B LT X, F4E ALK L inanimate B Y lifeless. B N BER
VEHERE . BACRE LEMT , 7 LB A AR inanimate X
TRFA N ETFTXMEXRSHONE in-(REE), BLETVERHE
Hig X,

4) TARBATER . E QR R A R R A E L . AT dis,un,
in.im EHXREEEL. 3P inanimate REHBTZ in
i £ animate (@), KA X BB “E RN ER TEMEK”
T. — UK, MABERL, MERKERAE. MEH ful i1
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un- not uncomfortable (R& e
(™ unanswerable CRREE & 1)
unsystematic (REZER)
unaccustomed (AT ®|E)
unacquainted (RBEN)
in- not inadvisable (A&
F) inhuman (RAEED
insuperable (REEBR )
involuntary €/F 3 §:0))
inapplicable (KRB
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dis- not dislike RER)
() disobey R A
disloyalty FBAR
disapprove (R RO
disarm (G RE)
non- not nonacceptance (R
@) nonessential (EAF )
nonsmoker (REBH O
nonpayment (AE)
nonliquid (FEH& M)
im- not () imperfection (AR
(% % % | imbrute (EEFE)
A= 8 b,p, | immigrant (BE)
m F i 898 | immoral (CREME)
i impossible (R B R9)
il- not () illiterate (REFH)
(&% o | illegal (FEEH
L # 1 7 | illegible (Rar g R
By A | illiberal (R
) illimitable (LRHD
ir- not (R) irregular (RLED)
(2 ¥ I 7E | irresistible (RO HLiEH)
UFEH r F | irrelevance CK#EF)
% 89 287 B | irrational (FEEM
) irretention (REER )
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